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e L~ =
1 49 9 =
94k
2 g/ 7 =
3 273 4 =
84
4 773 5 =
5 &8 34 = T
6 74 37 = 7 Bik
7 447 S4 =
64k
8 43 459 =
9 242 Y3y = 5 4%
10 7,02/ 6546 = 4 3R
11 5,284 2,7/3 = # 2 4R
12 54,575 3,834 = 24k
13 49,85/ 79,0/2 = # 15
14 598,709 658,772 = 1% 8
IFR
15 5,057,077 £,28/,8693 = N
1 399 + 7 =
8 %
2 /85 + & =
3 2,/72 + &=
7%
4 6,/985 + 7 =
5 3,034 + 44 = 7B
6 2,/84 + 24 = 6 1
7 33,2464 =+ 77 =
5 &
8 §0,456 + 904 =
9 252,648 + 724 = 44
10 2,645,424 =+ 578 = 34
11 /85,730,890 +~ 7,602 = # 2 4
12 40,762,200 +~ 2,7/0 = 2 4%
13 Y4,7/8,676,980 +~ 5/,/06 = # 1 4%
14 ///,398,2/4,797 + 244,37/ = 1% - &
IFX
15 $§/,332,7/0,3/9,420 + 7,408,7/& =

IN— b




